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¥ BeayT K 3HaAaHWUIO:
Vsl — 3TOT IIYTh CaMbIN

pa’kaHwsI - 3 YTb CaMbIN JIETKUA,
)IIbITAa — 3TOT IIYTh CAaMbIV TOPbKMN

1 dpmnocod n myapen Koundyimin
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rypbl Bbl 3HaeTe?



aeTcst
eJIorpamm,

I'OJIBHMKO N

Onpep,enel-me

KBagparom
Ha3bIBaeTcs
IIPAMOYIOJIbHU
K, Y KOTOpOro
BCe CTOPOHBI
pPaBHBI



,BOUCTBA:

g

Bce yriel npsimble

2. [IuaroHanwu
KBaJpara paBHBI,
B3aMIMHO
NepHeHINKYJIAPH
bI, TOUKOM
IepecevyeHms
IeJIATCS II0I0JIaM
VI IeJIAT YIJIbI

Y KBajpara Iorojiam



aTHoOe yTBepXaeHue
Ba napannenorpamMmma)
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TapajIiesiorpaMmme
aJIvi paBHBI, TO 3TOT
apasuiesiorpaMMm -
PAMOYIOJIBHUK.



KBagpar




ITapasuienorpam
M

IIpamoyroaeau | KBagpar

K

1. 1.Bce paBHBI
[Tporusononox | 2.IlapauiesbHbl

Hble paBHBI
2.IlaparuienbHbI

1.ITpoTuso
Hble PaBHBI
2.Cymma = 360

rpagycoB

L.
POTVBOIIOJIOX
HbIe PaBHbI
2.Cymma = 360
IpajycoB

3.Bce nipsamere

1.CymmMma y110B =
360 rpamgycos
2.Bce nipsamebre
3.Bce paBHBI

JIATCA II0IIO0JIaM

1. Toukom
riepecevyeH s
IeJISITCSI
IIOITIOJIaM
2.PaBHBI

1. Toukom
riepecevyeHs
TeJISITCS TIoII0/IaM
2.PaBHBI
3.B3aumHO

T PIICHAVIKYJLIAP
HBI

4.JTendT yribl
II0II0JIaM







PewuTe

1. a=3
P="

S="
2.5=9
a=? P=?
3. P=12
a=? S=?
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